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FOREX	
  ANALYSIS	
  OF	
  EQUITY	
  AND	
  PFJE	
  –	
  VIDEO	
  SCRIPT	
  ADVANCED	
  PFJE	
  
	
  
The	
   video	
   script	
   refers	
   to	
   this	
   analysis	
   of	
   equity.	
   Once	
   you	
   have	
   attempted	
   your	
   own	
  
solution	
   for	
   PFJEs,	
   you	
   may	
   like	
   to	
   compare	
   your	
   entries	
   with	
   the	
   suggested	
   ones.	
  
Remember	
  that	
  there	
  is	
  never	
  a	
  right	
  or	
  wrong	
  way	
  to	
  do	
  journal	
  entries	
  –	
  any	
  way	
  that	
  gets	
  
the	
   correct	
   answer,	
   is	
   correct.	
   The	
   key	
   check	
   is	
   that	
   you	
  have	
   the	
   correct	
  balance	
   for	
  NCI	
  
(R12	
  480),	
  goodwill	
  of	
  R1	
  600	
  and	
  the	
  correct	
  foreign	
  currency	
  gain	
  in	
  the	
  current	
  year	
  (R6	
  
540).	
  
	
  
	
  
	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  
	
  
The	
  starting	
  point	
  when	
  doing	
  PFJE	
  is	
  that	
  100%	
  of	
  the	
  subsidiary’s	
  translated	
  trial	
  balance	
  is	
  
included	
  –	
  the	
  translation	
  gains	
  needed	
  to	
  balance.	
  Rand	
  trial	
  balances	
  are	
  reflected	
  as	
  FCTR.	
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Check:	
  
NCI	
  =	
  R7	
  200(1)	
  +	
  R1	
  722(4)	
  +	
  R558	
  (5)	
  –	
  R987(6)	
  +	
  R3	
  987(7)	
  =	
  R12	
  480	
  i.e.	
  per	
  A	
  o	
  E	
  
Goodwill	
  =	
  R1	
  280	
  (1)	
  +	
  R320	
  (2)	
  =	
  R1	
  600	
  i.e.	
  $160	
  x	
  R10	
  Land	
  =	
  $	
  amount	
  in	
  sub	
  x	
  R10	
  i.e.	
  as	
  
per	
  translated	
  TB	
  +	
  R3	
  000(1)	
  +	
  R750	
  (3)	
  i.e.	
  $375	
  x	
  R10	
  
	
  
Comment:	
  
While	
  it	
  is	
  not	
  necessary	
  to	
  know	
  what	
  the	
  FCTR	
  is	
  in	
  the	
  subsidiary	
  trial	
  balance,	
  it	
  can	
  be	
  
calculated	
  as	
  R1	
  860	
  +	
  R6	
  540	
  (i.e.	
  amounts	
  per	
  A	
  o	
  E)	
  –	
  R320(2)	
  –	
  R750(3)	
  =	
  R7	
  330.	
  
	
  

	
  


